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(ii) Use truth tables to determine whether the following
biconditionals are tantologics. (any fwo) 3x2
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What is the negation of a tautology ? Give reason for your

answer. . _ 5
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Explain ([ F9) -

{i) A tautology is implied by any proposition.
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(i1) A contradiction implies any proposition. o
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(Inductive logic)

Discuss the criteria for appraisal of analogical arguments. 10

ARG FORGR Trea i iets o |

&)

OR / G23}
Critically discuss the following two Mill’s methods of
causal reasoning : 5+5
(i) The method of recidues
(ii) The method of concomitant variation
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What are the different senses in which ‘cause’ isused? 5
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Differentiate between deductive and inductive
reasoning. 5
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